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1 (20 points) Write a Java or C++ program that completely inverts an arbitrary
non-recursive list /, For example, if I=(a,(b,c)), then inverse(l) = ((c,b),a). The list
has no shared sub-list, and may contain sub-list. Your program needs to declare the
required data structure.  You only need to provide the inverse method/function, i.e.,
you don’t need to deal with input and output,

// Correctness of the program (15 points). Comments of the program (5 points)

2 (10 points) Let us represent a maze of dimension mx p by a two-dimensional array,
mazeli][ j], where 1<i<mand 1< J<p. Avalueof 1 implies a blocked path and
a 0 means one can walk right on through.  You can choose any of 8 directions from a
block to next block. ~ The length of a path means the number of blocks this path
covers. What is the maximum path length from start to finish for any maze of
dimensionmx p? How will the location of starting and finishing points affect your
answer? ';

3 (5 points) What is the maximum number of nodes in a k-ary tree of hveight h?

4 (15 points) Level-order traversal for a binary‘ tree is a traversal method that visitg
the root first, then the roots left child, followed by the root’s'right child. We
continue in this manner, visiting all the nodes at each new level from the leftmost
node to the right most node. Please write a non-recursive traversal method of
level-order traversal for binary tree.  Your program needs to declare any required
data structure, and you only need to write the key method/functions in Java or C++.
You may assume the existence of common supporting classes except tree (e.g., array,
stack, queue, and list).  You can also assume the methods such as add and delete are
available for the supporting class.

// Correctness of the program (12 points).  Comments of the program (3 points)
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6. Prim’s Method and Kruskal’s Method Glj:: %@*%?E%%Q‘i},%ﬁﬁﬁj‘(Minimum Cost
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